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7 e (iif) Suspension bridge
. (c) (i) Suspension bridge, (ii) Arch bridge,
/ , tretre, (iii) Cable-stayed bridge
. (d) (i) Arch bridge, (ii) Suspension bridge,
/ , s, (iii) Cable-stayed bridge
/ structure,
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o). (d) (i) and (ii). awe: and the main steel cables in the
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2 rl& ! tis only fixed atoneendis a ...... (a) The main steel cables and four towers
! b) tie beam. (c) cantilever. -~ ‘d)cc mn. tension force.
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6 " 1 force that is and the four towers tension force.
1in the pictur Jun (c) The main steel cables and four towers
9 00 ...... compression force.
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I sion (d) shicar. the four towers compression force.
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